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1. ERHBER
(BT FH)
ES S Ll
LUTFELBE(RATHEEE| WELE |WMETHE SEEERK
— A% &= &t 6,420,000 7,548,835 1,000| 7,549,835 22
EREERIKRE X 213,000 213,253 0 213,253
8 e ' E R 59,200 60,049 0 60,049
?ﬁj S % K & F % 298,000 361,742 0 361,742
ﬁ N H T KESFEE 185,000 186,485 0 186,485
REEEEHKEE 5,600 5,600 0 5,600
HAlREtDEE 760,800 827,129 0 827,129 -
REtDOEE 7,180,800 8,375,964 1,000( 8,376,964 -




2—1. —REFFEARR
(BB FH)
X % WMt FEEE| WIERE |WERTHEHES & &

01 Hr i 785,696 0 785,696
o2 A ¥ 5 & 59,400 0 59,400
03F F & X # &£ 400 0 400
04K & & X f £ 1,000 0 1,000
05 MXFRERBRIRTE 800 0 800
0BEANEEXEHRXMFE 2,000 0 2,000
07 5 H & B X i & 104,000 0 104,000
BIILTHZFARXTE 3,200 0 3,200
09IR ;& 1 B8 & X 1+ & 6,000 0 6,000
o# A 5 Fl X F £ 3,300 0 3,300
"M A xR F 1925592 0| 1925592
12 XRBREEMKFRIRTE 500 0 500
BRHEERVAEESR 25,827 0 25,827
“ERBHNRTF HH 171,290 0 171,290
15E B X H #| 1284955 1,000 128595505 250 2 (LRI 0T B
16 18 * H & 257,571 0 257,571
17 8% 3 ' A 31,982 0 31,982
18 &F ) & 31,847 0 31,847
19 #& A & 630,122 0 630,122
20 #& 24 % 29,286 0 29,286
21 § 1 A 233,652 0 233,652
22 My &| 1,960,415 0| 1,960,415

& 7,548,835 1,000[ 7,549,835




2—2. —REFHHEHAR
(BB FH)
X % Wt TE4E| HIESE |(HE®THSE ®HE &
01 & S Z 46,879 0 46,879
02 #& % ZE 4079519 0| 4079519
03 B 4 & 548,942 0 548,942
FROOFIIFUIRTLBIER
04 & &£ 7 341,624 1,000 342,624|5E A825, ILiEE EAKIERS R T
LinEsaEE1,825
05 35 18 = 2,147 0 2,147
06 8 # K E % % 255,047 0 255,047
07 7 T & 136,316 0 136,316
08 X = 623,931 0 623,931
09 H ;] = 197,220 0 197,220
10 # B % 638,788 0 638,788
nmKg +F %€ 1B £E 19,235 0 19,235
12 2 & = 656,187 0 656,187
13 % i = 3,000 0 3,000
&t 7,548,835 1,000 7,549,835
2—3. —BR[EIHEFHEOAEH
(BB FH)
A i H
-BEXHE 1,000| -#HEanF91 L REBIRE 1,000
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